X 9] 7} Y49 v 9o 947} s ul -2 & o] oF st
Df(3) =2, f(3) = 3 o|B& &7} ohrt.
@xl Oﬂ EH——o]-——y _,] 71—0] _Er'_z,\_—g] “}OEE @._4\_7]_ 01'1411]:

1
7£oﬁ

@,6 x, o THS3H= y 9] gho] 2740] B G2} opeh,
L=
il




obel 1L AT xolA A% ¥ 2o WS X - ¥E ek
Zoltt, fol Aoy, ¥, A9 =AU E a3t 229
X—L >y
1 a
b
C

®D {a,b,c}, {1,2}, {1,2,3)
® {1,2,3}, {a, b}, {a, b}

® {1,2,3), {a,b,c}, {a,b,c}

o

@ {a,b,c}, {1,2,3}, {1,2}
@{1,2,3}, {a,b,c}, {a,b}



T3 flx) = ¥2—x, g(x) = 2x+ 19 A5t (fogo £)(1) 2] AH2?

®© -2 @ -1 @0 @ 1 ® 2

f(1) =0°lBZ (go f)(1) = g(f(1)) = g(0) =1
S (fegef)1) =f(1) =0




Ad A = (o< x<1joll thote] Al AR &5y = f(x) <t
— ¢(x) 9 T Zo} ofef D-T ZL W, (fogo f- 1)( )< gk

Aufel7}?

flx)=d .x=b

L (fogof)(d)

= (fog)(f(d))

=(fog)b) = f(g(b)) = fla) =c




y=1(2)
er------- Y=z
dF-----/ :
ch---- /|
bl-- A0
al A7 1
0 7
@ a @ b ®c @ ® e
B
(f-)7HB) = (- H?)
=)

f7H(b) = k=t S, f(k) =
L k=c

A a0 )) fe)

E, f(c) =12 SHE, f(r) =
SLt=d

L N)7THb) =




. o,

(fofog) ™t =glofltoft.m. ol
fHa) = k2k s f(k) = a°lM k=b

f‘l(a) =pheenn (@)

fib) =102t stA f(I) =bolA I =c¢
f‘l(b) = (@ 000000 ©

g7 (c) =mol2t 519 g(m) = coAA m=d
gl e)=d---- @

Q,0,0, @A

(fofog)t=(gtoftof ) a)
=g {f Ha)]
=g {f'b)} =¢gc)=d




7

H

vl

K-




A4 f(x) = ax+b ol tiste] f71(1) =2, £(1)
e Fetolet

» =

D<=

=24, £(3) 9

f@)=2a+b=1, f(l)=a+b=2
ALt a= -1, b=3
. fB)=3a+b=0




Sh
=1

2~
e

f(x) =2x -3 °f tiste] £71(2) o] G272

@ 2 @2 @ 3

NSRRI




10. f(x) =2x=3 °12 g(x) 7F (g0 ) (x) = 2x & THA]
2 Autl7}?

® -2 ® -1 ® 0 @)1

B

® 2

(8o f)7H(x) =2x & (g0 f)(2x) =x

© g(f(2x)) = x

f(2x) =2e2x-3=4x-3

. 8(f(2x)) = g(4x-3) =x

dx-3 =194 x=1°]E=

gdx-3)=x 9 FHN x=1S dYstH (1) =1




©)}! @ 2 ® 3

@0

12

=4—-k=2

orebA f(1)




12.

@ 9

(gog)(a) =2 A
(g—l o g—l ogo g)(a) _ (g—l ° g‘l)(2)
na=(glog™)(2)

= (fo£)(2) = f(f(2))

= f(4) =10




T f(x) = 20-5 9 AR y = f(x) S S o, £~

Arfel 7}y

® 3

f)=y=2x-50°0A x 2ty EvHHH x =
x=2y-5%yl tste] HelstH

1
y=5(x+5)

LS = 5+ )
L3 =1
TEEol fH(-3)=a 2 &
7(@) = =3 NAf(a) = 2a -
a=fi-3)=1

2y—-5




14. AN =(-2 -1 0, 1, ¥ =1(1357
fiXoYEf(x)=20+5 2R, (1) + f

otelz}?

of thste] 4

1(5) ©] 7ke

A =a, f15)=b B EOH
fla)=1, f(b) =5
f)=2x+50182
fl@)=1°1M2a+5=1 . a=-2
fb)y=5NM20+5=5 .. b=0
a+b=-2







16.

s

f(x) =2x-5,g(x) = —x + 3 °f| Hi5t
(flog)(2)=rf"(g1(2) °l1ER
gl 2) =k 2 EOH g(k) =2
—k+3=2°Hk=1

(fleg @) =f"11)=mo2 FOH,
fm)y=1°42m-5=1

om=3




(x<0) A, (o ) (4) 9] B AutelZ}?
(x>0)
1
@0 ® 3 @1 © 4




QA f(x) = ax+ b ol diskod, f(1) =2, f7(-2)

“1(8) ] g Fohw?

D 2 (@)4 ® 6

@ 8

=-1¢

® 10

o,

~&B

fQ)y=2°4a+b=2---Q
fH(=2) =-19°A f(-1) = -2
SLo—a+b=-2---©

QY ©OF ™St EHa=2, b=0
s f(x) =2x

of uf, /7(8) =k 2 st f(k) =8
mabA, 2k =8 oA k=4

Lof8) =4




19.

y=|lx+1]-]|x=-3]| °lA
i)x<-1
y:—(x+1)+X—3=—4
i)-1<x<3 4
y=x+1+x-3=2x-2
iii) x>3 <& uf
y:x+1—(x_3):4
o] oA Foizl o] T m ot ot
S 187t ooz
M=4m= -4
SM-m=4-(-4)
=8




f(2) =3 oA £1(3)
g 1(1) =4 914 g(4)




